
piston.start_at(piston_active)
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all piston objects
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  def is_this_piston_ready(piston):
  
    comp = piston.get_composite_reading()
    temp = piston.get_temperature_reading()

    if 0 <= comp <= 20 and 50 <= temp <= 100:
       ready = True
    elif 25 <= comp <= 50 and 200 <= temp <= 333:
       ready = True
    elif 30 <= comp <= 66 and 403 <= temp <= 600:
       ready = True
    elif 70 <= comp <= 100 and 670 <= temp <= 1500:
       ready = True
    else:
      ready = False

    return ready

     

Event Processor

piston_active

entry/ piston.armed = False

relaxing

entry /
  piston.scribble("relaxing")
  piston.count = 0
  
TIME_OUT /
  piston.count += 1
  if piston.count >= 7:
    status = piston.trans(pending_optimal_conditions)

contract

/entry 
  piston.scribble("piston_slamming!")

pending optimal conditions

ready

entry / piston.armed = True
exit / piston.armed = False
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Piston

count
number
armed

is_this_piston_ready(chart)
get_composite_reading()
get_temperature_reading()

TIME_OUT


